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KVS DIRECT RECRUITMENT EXAMINATIONS
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Roll Number

Name of the Candidate

Examination Name KVS PRT 24 FEB SH2

Exam Date & Time 24-02-2023 03:00:00

Subject : GE_Q01-Q10_PRT24FEBSH2
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
(a) are bad for health

(b) intoxicating drinks

(c) atall costs

(d) and should be avoided

(1) (d) (@) (b) ()
(2 (9) (a) (b) (d)
(3) (b) (a) (d) (
(49 (a) (b) () (d
Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
The tourist guide will take you around the town.

(1)  You can be taken around the town by the tourist guide.

(2) The tourist guide will be taken around the town by you.

(3) Around the town you will be taken by the tourist guide.

(4)  You will be taken around the town by the tourist guide.

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3
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Fill in the blank with the correct preposition.

He is enamoured philosophy as a subject.
(1) towards

(2) for

(3) with

(4) of
Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.

The train had left before we could reach the station.

(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect Continuous

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
My friend said to me, “Which play have you seen recently ?’

(1) My friend asked me that which play I had seen recently.

(2) My friend asked me which play had I seen recently.
(3) My friend asked me which play I had seen recently.
(4) My friend asked me which play I saw recently.
Options:-

.1, Option ID :- 17,

« 2, Option ID :- 18,

. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6
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Identify the part which contains the error.
Unfortunately, / he can’t / hear properly, / is it ?

(1) (2) (3) (4)

Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meaning to the given word.
QUELL

(1) torture

(2) defeat

(3) support

(4) subdue

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Choose the word opposite in meaning to the given word.

CALLOUS

(1) kind

(2) cruel

(3) generous
(4) optimistic

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9
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Identify the part of speech of the underlined word.

Are you the same PeISON we met yesterday ?

(1) Noun

(2) Pronoun

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Identify the clause of the underlined part in the given sentence.

He may relax when he finishes his work.

(1) Adverb Clause
(2) Adjective Clause
(3) Noun Clause

(4)  Principal Clause

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

- 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_PRT24FEBSH2

Question ID:- 11
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Frafafea T=iv &l SYEsE Ugeht AT STUTRA W9 i T2l SR aifa |

gfte & YRY F TR o9 o o g 3fae W gfeum #33 9 7% ya 99 © 5 oea 3 R
Tftgm #3d g 319 o & vy =i yon fovan €1 osa % g o %l ¥ 5 ene e ied § =R e
I Tohera fe@nE Tedt €1 Har H ' i, 9 e, 9ol ser-ewd, 9% gafs uRem = &
o 2

HErd! i gerr o7 il W ufiam | @ w2t 7 1 fava § fa off enfoser gu € we afugw
F o WE GUE | e Soacd TS 1 SHE © | URgH T B HOR 1 9l gu-giaed @y @ e
EiniEd

THE F e faem & v i weRd fEmn
(1) T "G

(2) SHEIT-HAT Hlh

(3) T 9Rgq =%

(4) ST Tk

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

FrefefEa Terst st earTgas Tgent SHUT STUTRT U9 i Weleh St oiiaig |

gfie % gy ¥ oL I @5 &AM sfae T gfeud 3 9 g8 va "o € % ame 3 R
Tfigm 70 g o797 foshrg o e =) g9 fohan €1 O & Ui 1 e € T ot gun Ssitem | 9Ri iR
ST Fohera fe@E Ted! €1 |WaR | | fmi, 9 e, Sy se-eme, 96 gafs uRkem & &
o £

Hrerd! =1 YersE iR wfd i Hiel uRew § & wra Bt 1 fava 1 for off enfoepr gu E we ufgw
&g T T T T Twaa S A SHE €| aRGH 9 I HUR 1 9R ge-giau =9 @ fa
EiniEd

TN SHIeH I ST S%dAd et gfitom g 2
(1) fagm

Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
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Answer Given:- 4, Option ID : -48

Question ID:- 13

Frefeafaa Ty &t sTgEes Tgeht IAUT LT W9H &1 Welen It g |

itz & YiW ¥ oL 31 d & HHd 3faeM T2 giedrd %3 § 98 Ydl gerdl ¢ o mmg A s
TfgT T g 794 ok o u = gend fomen 1 T o ufigm 1 el ® foR o gam Sited § = oI
SR el femiE vedt &1 gar § 9 oo, g =, gyl wa-wee, 9ed 99fe uRkem = d

Tfome ¥ |

HFETd o HoTHa S YAt ol diel g | & 9 sl ¢ | fava § foa off snfawsr gu & e ufigy
F o WE gL F 1 & ToIa ey 1 SHE €1 uRgH 9 F HER i 9R ge-gfauw @ @ faa

STt 2 |

TR E & I 9T o HFd © 7
(1) =

(2) g4f4

(3) HE-gfa

(4) HREA 3R WAl

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

‘g 91 1 O 7 A o iR 9% H R §

(1) wd4
(2) R
(3) HYSH
(4) AU
Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
« 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15
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T T YR W STET - ¥

(1) aH-aeRiE

(2) TU-TW

(3) BE-BEI

(4) AE-AE
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

‘51" 1 faeim 2

(1) =7

(2) T

(3) =

(4) ST
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

(1) s
2 ¥
(3) &
(4) HHY
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18
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ol 3 STT9R W o7 9reE I |

(1) Y-

(2) <a-TE!
(3) FER-FAR
(4) SEHVI-SATEHT

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19

‘T | T qETeR o Herd 1
(1) & F™ T

(2) HEl HM T H YA

(3) M fag T F= U

(4) T T U I

Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

‘g el W o o' e & Y o H g #

(1) YRAaTESh

(2) Hayard®

(3) TAstEmE=

(4) Tre=gaT=s
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

- 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PRT24FEBSH2

Question ID:- 21
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The provisions of the Sixth Schedule of the Indian Constitution do not, extend to the administration
of which of the following States ?

(1)  Sikkim

(2) Tripura

(3) Meghalaya
(4) Assam

qRA o Wiay™ &l 231 995 & 3yadl 1 fawr Fefafaa 9§ 9 59 19 % 9eem 7% 96 ¢ 2
(1) fafern

(2 Prgu

(3) HETEE

(4) HEH
Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

Which of the following States in India has the lowest Infant Mortality Rate according to the National
Family Health Survey 2019-21 ?

(1) Goa

(2) Arunachal Pradesh
(3) Sikkim

(49) Kerala

T 9fREr | qaem 2019-21 & ATIR 9Rd o Fefafad § 9 feg o o1 g 90 & 599 &9
g2

(1) e
(2) STEUTEA HeW
(3) Taferm
(4) A
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23
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(1) Russian Revolution
2) American Revolution
3) French Revolution

(
(
(4)  English Revolution

(1) &4t wifd

(2) ™! wHifd

(3)  RIETHT whifd

(4) ST st
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

‘The Declaration of the Rights of Man and Citizen’ is associated with which Revolution and was
later incorporated in the Constitution of that country ?

“Te Teaiom 3% f& U329 1w 49 uoe fofesq’ (999 iR Aries & sfsri &1 o) fH- wifd 4
Heiferg & T8 arg o 39 <91 o gfasm # wfae faran o on?

Question ID:- 24

Which of the following is a Ferrous mineral ?
(1) Copper

(2) Bauxite

(3) Lead

(4) Manganese

Trefefaa § | F |1 u degs a@fis €2
(1) e

(2) RS
(3) Hr=
(4) HS

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
. 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25
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Consider the following statements regarding the ‘Bharat Ratna’ and identify the incorrect statement.

(I) The award can be used as a prefix or suffix to the recipient’s name in accordance with Act
18(1) of the Constitution.

(2) The recommendations for Bharat Ratna are made by the Prime Minister himself to the
President.

(3) The number of annual awards is restricted to a maximum of three in a particular year.
(4) The award does not carry any monetary grant.

‘R T o dey | Ffafed wedl ) fear ST IR Ted w99 Sl 189 s
(1) iy % =55 18(1) % SFATHR JTEFHd Al AT T8 & 3T "9 Id % €9 § 39 HHE &

Optjons:-

Option ID :- 97,
Option ID :- 98,
Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

Who won the best Female Athelete award in the 36™ National Games held in Gujarat in 2022 ?
(1) Maana Patel

(2) Richa Mishra

(3) Shikha Tandon

(4) Hashika Ramchandra

Y 2022 H T[S H gU 364 UG Wal H HagS qfed ugel # R TR St ?
(1) = geaA

(2) = fasm

(3) Teman ZeA

(4) EfoeR THE=
Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
. 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27
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Which Book/Title was awarded the Sahitya Akademi Bal Sahitya Puraskar 2022 in Sindhi ?
(1) Anokhiyun Aakhaniyun

2) Duniya Baran Ji

3) Har Hand Tho Tokhe Disan Ma

4)  Muhinji Gudhi

(
(
(
ot o wifeer stepredt amer |ifecd TUERR, 2022 foF q&aen/efide &l e foan T 2
(1) ST S

2) gfn e S

3) ®LER A e feaE m

4)  Hfesit et

Options:-
.1, Option ID :- 105,
« 2, Option ID :- 106,

(
(
(

. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Consider the following statements regarding Deep Ocean Mission (DOM) launched by Ministry of
Earth Sciences.

(A) Mission will help to develop the potential of the green economy of the Indian Ocean.

(B) Mission is a multi-ministerial, multi-disciplinary programme with emphasis on development
of deep sea technology.

(C) Mission aims to develop capacity building in Marine Biology.

Select the correct answer using the code given below :

(1) (A) (B) and (C) only
(2) (B) and (C) only
(3) (A) and (B) only
(4)  (A) and (C) only
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YAl fag Haerd g/ ¥E foh U €Y sier foee (Shelun.) & Hay § frafafed sue w famr
ENEiEd

(A) =8 o fag HemrR it 2t sefeaere sl Gureadl & faekfyd st § |eradr S|

(B) I8 U a5, ag-fowe wrikn ¥ o et 9hg aeie & e T e fom e ¥
(C) =4 &4 |qgl it fagr | amen fmio fassfad = €

= fU 7T e %1 9ER i 3T HE I ] g

(1) W(A}()aﬁ?m

(2) EE (B) #R(C)
(3) e (A)sﬂ?()
(4) A (A) R (C)
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

What is/are Pseudopodia?
(1) Itis Amoeba’s cell membrane.

( It is Amoeba’s finger-like projections for movement and capture of food.
(3) Itis Amoeba’s food vacuole.
(

They are digestive juices that are secreted into the food vacuole of Amoeba.

TTET T E 2

(1) =% 3THrE i SR foeet 21

(2) IE ST T R YIS F THSA & fru siet St ward ¥
(3) I 3THrEl i HISH THHH B

(4) A U T ¥ S erien Bt iier wmert § Enfad @9 ¥

Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30
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Which of the following separation process is used to obtain salt from Seawater?
(1) Sedimentation

(2) Decantation

(3) Evaporation

(4) Distillation

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_PRT24FEBSH2

Question ID:- 31

How many 3’s are there which are preceeded by an even number and followed by an odd
number ?

43125338375 UBERY 239
(1) 6
2 5
(3) 4
(4 3

= feu v g e ° U 3 o 9 et @ {9 uge |y e o O o favw g ot € 2
4 31 2338383753 4%182%39

(1) 6
(2 5
(3) 4
(4 3
Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122
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Question ID:- 32

Ekta is 4 km to the West of Bhavya. Priya is 4 km to the North of Atul. Chetan is 2 km to the West
of Atul. Dinesh is 4 km to the South of Gourav, who is 4 km to the East of Chetan. Dinesh is
exactly in the middle of Bhavya and Ekta. In which direction is Ekta with respect to Priya ?

(1) South

(2) West
(3) North
(4) East

T, o F 4 R ufeeg | ¥ e, oiqe 4 feRl SR A 8 =9, o & 2 R aftem g 7
few, T % 4 . afem § & <ifr =aa & 4 frd @@ § @1 29w, won ol wwan & foega <= | 7
wehdl, T o1 fory feen 9 82

(1) =fao
(2) ufe=m
(8) W
9
Options:-

.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

Eight friends P, Q, R, S, T, U, Vand W are sitting in a straight line facing South but not necessarily
in the same order. “U’ is sitting fifth to the left of ‘P’". ‘S’ is sitting fifth to the left of “T". “T” is on the
immediate left of ‘P’". “W’ is third to the right of 'S". “Q’ is third to the left of “V'. “V’ is an immediate
neighbour of ‘P’

Who is sitting to the immediate left of 'R". ?

(1 Q
(2 S
3 T
(4 U
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s I3 P,Q R, S, T, U, V &R W eferr =t 3i gz & we dieft vfe § 912 € fobg o ot opm o 78 512
F1'U, ‘P % 9 3R Oiee ©F W EST §1°S, T & =14l S 4i=d T 9 981 §1 T, ‘P % Tshed oEl
FARF1'W, 'S & gl SR Al T WS 1 ‘Q, V% 9 IR A T WA |1V, P & ey
TS T

‘R’ % UeheH I &1 hiF 921 ?
() Q
(2 S
3 T
(49 U
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

Given below is a question followed by two statements numbered I and II, each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q : What does ‘Ken’ stand for in a code Language ?

I : In the same code language, ‘she is beautiful’ is written as "ken rum top’”.

IL: In the same code language, “weather is beautiful” is written as “top ken dim’.

(1) The statement I alone is sufficient to answer the question while statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while statement I alone is not
sufficient.

(3) Both statements I and II together are not sufficient to answer the question.
(4) Both statements I and II together are necessary to answer the question.

= wek v fen en & foees oig <1 weA-1 @R 1 fR e €, fo weies W e STee &t T € ) e Foi
HITST o oA G/8 He 997 &1 I A & foe gaie 272 |

T : e 9HTH ‘Ken' & #0134 87

HUT [ : 3G FH 9T H, ‘She is beautiful’ 1 ‘ken rum top’ % 9 H fer@n s €1
HYAI1:  FH 2 99 H, ‘Weather is beautiful’ Fl‘top ken dim’ % ®9 H i@l Sl 2|
(1) oA I 3THe] 999 1 3T &4 o o 9ol § Safes &9 11 3T 797 =7 2 |

(2) YA I 3TheT T3 %1 ST o o fou oot & STafe & 1 ofehel waia 78 © |

(3) YA I 3R FHYA 11, S THeraRt W9 &l I o1 & fou g 7@ 21

(4) YA 1 3R FoA 1L SH1 e 99 &1 IR <7 & fore sTevas 7

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
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. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, Circle represents women, Square represents educated, Rectangle
represents rural and triangle represents teachers.

8
11
5

How many Rural educated Men are there who are not Teachers ?
(1) 9
(2) 11
(3) 13
(4) 15

e feu 1w 1w H, g wieersil o, ol ffew o, S oo s SR 5s steamenl 1 wiafitee s
gl

/
/7

8
11
5
T foRe v fafar g € S sveamaes T8 € 2
(1) 9
{2y 11
(3) 13
(4 15
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT24FEBSH2

Question ID:- 36
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Which of the following is not an input device ?
(1) OMR Reader

(2) Mic
(3) Touchpad
(4) Plotter

Treafafaa & @ = w s7qe foomy =2 € 2

(1) 30 TH AR T
(2) HE=
(3) ZAUT
(4) TR
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which of the following is the largest memory unit among the given options ?
(1) Exabyte

(2) Peta Byte

(3) Mega Byte

(4) Giga Byte

= fau Tu foemedi § § forment 90 g2 waifs 8 2

(1) TEEEES
(2) e aEe
(3) M S
(4) AT aEe

Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38
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Which of the following is an Open Source Operating System ?

(1) MacOS

(2) UNIX

(3) Android

(4) MS Windows

frafafea § 9 F @1 wF 3T 9 g faweg § 2

(1) & s ug

(2 I

(3) TUSES

(4) THTH TS
Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

is an Antivirus software :

(1) Winzip

(2) MS Excel

(3) Mcafee

(4) TUX Paint

Teh UHarERy ST B

(1) Teafs™

(2) TUHTH TR

(3) I

(4) o Y2
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 3, Option ID : -155

Question ID:- 40
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Gurdit Singh is interested in creating a project report on a document using an open source software.
Which of the following will you suggest for the same ?

(1) Impress

(2) Calc
(3) MS Word
(4) Writer

Tfed g fordt i wrd wites=R =1 7arT &0 Rt efagde W s e U 99 o1 359 ¢ | 39
T feru fopeent gama <912

() w99
(2) e
(3) THEEGE
(4) WX
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Subject : UL_Q41-Q55_PRT24FEBSH2

Question ID:- 41

Which of the following statement is correct ?

(I) Growth includes both qualitative and quantitative changes.
(2) Growth stops after attaining maturity.

(3) Developemnt is not a continuous process.

(4) Development and growth always go hand - in - hand.

freiferd § | %F |1 %Y A& § 2

(1) 3fg ¥ Torees iR wftamomeres e afteda aftafad 81
(2) UfRtgeral =i 1Y % 918 gfg wek SIdl 21
(3) forrma weh mad iswan & 2

(4) TorRmE IR Hafg SHI Hed WYY Ferd |
Options:-

.1, Option ID :- 161,

« 2, Option ID :- 162,

« 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162
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Question ID:- 42

In Proximodistal sequence the development of human beings happens from :
(1) Outer to inner.

(2) Head to toe.

(3) Centre to outside.

(4) Toe to head.

Teifeea o wy o are 1 foem 2 &

(1) = H Hid *l 3R

(2) ¥ E # 3R

(3) = ¥ ey faa H

(4) W F e F A iR

Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

A child has learned to crawl without any support or training. This change may be attributed to :
(1) Growth

(2) Maturation

(3) Developement

(4) Learning

arereh A forn ferel Tt = ufvierm & € T Hien € ) 98 9fiEdT &el S 9l ©
(1) dfs

(2) ORTERE

(3) T

(4) stfermH
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44

@ Teachingninja.in



Which statement is true ?

Adolescence stage promotes new relations with age mates of :
(1) same sex only.

(2) opposite sex only.

(3) both sexes.

(4) rich background alone.

rtiferd © | i | wEA W ® 7

Torvirreren ® Fae THM 3T % WIS & 1Y TU ey H TIEE 96
(1) e 9aF fedn = =afedi & @ |

2) hael faudid fein = =afwal & ae

) <A foiv & el & W |

4) e WS JEYH At SAfEA % e

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
« 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

According to Piaget, “Concrete operational stage’ happens in age group :

(1) Birth to 2 years.

(2) 2to7 years.

(3) 7 to 11 years.

(4) 11 years and above.

st % S1ER o e e’ fag sy o ufed At & 2
(1) 4§23 =i 3 a

(2) 29 794 Y TH

(3) 7 |11 a4 &l g qF

(4) 11 a4 3R 3 3GF 918 H AG H

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46
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Children assume affections; camouflage feelings towards family during the age group :
(1) From 5 to 8 years.

(2) From 9 to 11 years.

(3) From 12 to 14 years.

(4) After 14 years.

frifera ® @ forg o1 we & arae! | ufEr (F2a) & ufa Im; A e faenfaa 2 € 2
(1) 549834 Ay

(2) 99 11 949 %l A

(3) 12 9 14 34 %l 31

(4) 1499 & 9§

Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

With regard to levels of character development, ‘Self Centred Stage’, refers to the age group :
(1) From 2 to 6 years.

(2) From 4 to 10 years.

(3) From 10 to 13 years.

(4) After 13 years.

T foha & w0 F de9y § o Ffgg =0 F1 dey frg am g 9 82

(1) 2% 6=

(2) 491099

(3) 10 913 =9
(4) 13 =9 % qvE

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48
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In the context of emotional development which statement is more correct ?

(I) Moral and religious training should be the sole responsibility of home and society.
(2) Moral and religious training should be left to the choice of individuals.
(3) Moral and religious training should form part of the school programme.
(

4)  Moral and religious training should be left to the concerned religions.

Germeres farerr o Hesl # freiferd § & SA- e sifes 30w € 2

(1) Hfae iR enffer wftnem 7z iR T 61 8 iR @t =mfew |

(2) Afder oiR et wfvem =afedl & fases W e s =fey |

(3) fae o unftier wftramn fomne & iy =1 90 2 =ife |

(4) e AR afier sfoemr 1 Sife Hefm a0t = 2re fem s =nfew)

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

Which characteristic may not be possessed by a socially mature person ?
(1) Critical of the evils and malpractices in the society.

(2) Indecisiveness at times of crisis.
(3) Adaptability and adjustability.

(4) Respect for the opposite sex.

qrafse ®9 § uivee s |, Frifa 8 § SF- o 728 & wed 52
(1) TE o =9 guedi o ST i ST &3 |

(2) HEe HI FS H AT T i el

(3) STFcR-TaeR SR WO T F ol |

(4) Tada-fem o =afwdi o ufd 99 & 9eE |

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50
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Human development is a concern of :
(I) Sociology

(2) Psychology

(3) Anthropology

(4) Biology

“arg famre’ feiferd | 4 fray Heifid 872

(1) EHSEmE
(2) AR
(3) HMERTE
(4) e fasm

Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51

Which of the following statement is correct ?

(1) Adequate level of intelligence is not a necessary condition for being creative.

(2) One may not possess high intelligence without having creative abilities.
(3) Creativity test also measure speed and accuracy.
(4) Convergent thinking is the basis of intelligence.

freiferd § € shiA-H1 9T TE 8 2

(1) gemia 2 % foa v gigoea @R &1 2 evas ud T8 ¢
(2) gorrHs Aradl & o wafe o s= gigwm 72 & vt T
(3) geretterar wieror ®, T oI uftgrgan o off Oroe e s €
(4)  AfrEr e 9fg 1 e e § |

Options:-

.1, Option ID :- 201,

« 2, Option ID :- 202,

« 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52
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The development of feelings of appreciation and attitude comes under the domain of :
(I) Cognitive development.

(2) Psychomotor development.

(3) Affective development.

(4) Social development.

yifed =t sraAn 2R sifvafa =1 fasm fr=ifea § & frg &3 % erfiF emar @ 2

(1) HaFeHF foreprg

(2) AU fas

(3) wEAHF faskg

(4) AR faeE
Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

The teacher’s role in motivation is essentially a matter of :

(1) placing attractive incentives within the reach of the students.
(2) arousing needs in children.

(3) creating new interests.
(

4)  channeling the energies of live and alert students into constructive activities.

s | syearae = fteR gera: i 5 9 frmem fam g2

(1) TorenfeRdi = ug= % i’ s die W@ #

2) e H STURY 3eqe A H

3) S WAl A HE H

4) TS SR Gk forenfeEl 61 T wrEiwer § I A o fou 3 formm e o gl foen |
werfed sl

Options:-
.1, Option ID :- 209,

(
(
(

« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54
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Fill up the blank :

Schools can be considered group as far as socialising agency is concerned,
(1) primary

(2) secondary
(3) tertiary
(4) supplementary
e ¥ =1 gfd IS0 | Sl 9 Wity TSl &1 Hey 8, Tl 1 THE A S Aol
gl
(1) wrefeR
2 fadiEs
(3) dTH
(4) IR
Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Kavitha is a student who can think logically about hands-on problems and organizes things into
categories and series. Also understands past, present and future. She is at which stage of Piaget’s
stages of cognitive development ?

(1) Sensory motor

(2) Pre operational

(3) Concrete operational
(

4)  Formal operational

Higdl A9 g foenedl geaTd FHened & an § difther g | e & 9ot & iR =tei o1 e i)
gigen § Sqaftyd w1 WY & Y Jaere, aqn IR ufasy w ot 99w §, 9 98 s % g9
erepr o fafim =l o 9 foFg =01 5 &2

(1) Hesl Wk

(2) YE-HfwATF

(3) Hd HichaTHE

(4) 3T=nfes dimars

Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,
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« 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Subject : UTL_Q56-Q70_PRT24FEBSH2

Question ID:- 56

Which of the following statement is incorrect ?

1)  Curriculum is prescriptive while syllabus is descriptive in nature.
2)  Both curriculum and syllabus are framed by educational experts.
3

(
(
(
(

) Both curriculum and syllabus are very broad in nature.
)

=

Curriculum includes the planned and guided learning experiences while syllabus presents
an outline of a course of studies.

FreAfafad o | o 1 Fea w9 T8 2 2

(1) reE=E fafed g € srefe wreTsrs wehfa § faeromees g # |
(2) T SR uEsH, Sl ol Saiforer fagE gr SR S 2
(3) UeT=Al 3R UISTsH, SHI Il ST Y & B § |
(

4) et H At oIk At R sifar sy e 20 € @ o T sters % e w5
T T H T |

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

Which of the following is not a characteristic of “Assessment for Learning’ ?

1 It helps identify areas of streneth and learning needs of students.
P ) re] e

(2) It expects students make errors.
(3) Itis judgemental.
(4) It permits peer assessment and self assessment.

frefafaa § 9 o ‘afirmg & fau steem’ &t ue fosier & &2
(1) == fornfeiii & veeme oK sAfarm dest sewi 1 veam- H Terad & ¢

(2) I AN A © TR farenedt wefaar w0

(3) =& ffames 21

(4) I WEUS! STeheT IR - 3TheT 1 ST a1 € |
Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
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. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Which one of the following does not fall under ‘Competency based approach’ ?
(1) Seeking peer assistance

(2) Learning at own pace
(3) Memorizing formulae
(4) Practising mastery learning

Freafafaa # & o gam smerfia surm’ & farid 78 o § 2
1) Heue! s Ferddr HrrH

2) AU Tfq 9 SAfs

3) W AR FHE

4) VAT ST S HE

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

Experiential learning is not preferred because :

(1) It encourages self directed learning,

(2) It focuses on process of learning and not on the outcomes.
(3) It incorporates differentiated instruction into the classrooms.
(4) ICT is used extensively.

CSTETe AR ) el T S S § i

(1) =z @-fEfm eiferm =+t seE <ar €

(2) =% SAferTs T FiEE W e < § T o Sues o) w
(3) TE hE o et sy i wind w% €

(

4y o =Y 3 o =E T H TAA R S ©

Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
. 3, Option ID :- 235,
. 4, Option ID :- 236,
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Answer Given:- 3, Option ID : -235

Question ID:- 60

What will be your approach if a student interrupts in your class ?
(1)  You will ask him to leave the class.

(2)  You will give him extra homework.
(3) You will ignore him/her.
(4)  You will assess her/his reasons and address the same.

7fg rd faemeft syeht Fen § SHau Se99 Al © o ST 91 giEehior & 2
(1) 319 3§ FH& § Al S 6 Fedl |

(2) &3] sfafEa Tewd S

(3) 319 IHH! TGS Hi |

(4) ST IHH FRON HT SAHAT FEN HR IHH FHGH R |
Options:-

.1, Option ID :- 237,

« 2, Option ID :- 238,

« 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Read the following :

(A) Teacher plays the role of facilitator.

(B) Students, mainly work collaboratively.

(C) Assessment is bench marked.

(D) Products are subsumed by process consideration.
These characteristics represent which approach ?

(1) Cognitivism

(2) Constructivism

(3) Behaviourism

(4) Rationalism
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freafefiaa =1 afeu

(A) 3T=ATTF GiEeT-Haw =i iRt e 2

(B) Taenell ged=n wewifirar & e % |

(C) e frdv-fafa (sf=rmmh) & &

(D) wfshan W foram =3 % g Icuiel = witafer sy foran s 2 |

3 fodman feg surm =1 <ol &2
(1) HIFAHF
(2) THATH®
(3) HATBRIHR
(4) eRicHS®
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Which of the following is correct ?
(1) Assessment refers to a process by which attributes of some phenomena are quantified.
(2) Assessment is a process by which information is obtained relative to some known objective.

3 Assessment refers to value judeement made on a phenomena taking into consideration both
juag P g
quantitative and qualitative information.

(4) Assessment is a process of examining students and awarding grades.

Frefafed # & i 31 98 €2

(1) Ik U Yfehan & foraeh g1 v afigdl o o0 o1 TR s S €

(2) AR Uk Yfeha & 9ok 51 &9 91 k¥ & X H SIHeRI UTad i STl 2

(3) ST HHHS: AR U, S st TR fa=m % e 1figya ) gegam fofa e =i wfwa
gl

(4) 3ArRer famnfeEi =t glen oF 3R I 37 A U uhE 2

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63
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Which one of the following is not a characteristic of a teacher made test ?
(1) It covers limited number of competencies.

(2) It may help identifying learning difficulties of the pupils.
(3) It can contain variety of items.
(4) It may be used for wide ranging Comparisons.

Frefaifiad 9 %1 Tk 7Rk gIU ST T a0 Sk e w8l € 7

1) ¥ diftd g § gerel $1 wel F B

2) g faeniei i eifarg det Sfeedl ®1 g9 w3 § T R TFal ¢
3) zud fafie R % e wifet & W €

4) T AF AN F 7 FART H A1 S HH € |

Options:-

.1, Option ID :- 249,

« 2, Option ID :- 250,

. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

Read the following :

(A) Student does assignment in her/his. own pace.

(B) Student follows the instructions of teacher carefully.

(C) Student shares the ideas with others.

(D) Students are achieving wide range of educational objectives.
Out of these which statement is true about individualized learning ?

H &)

(2 (B)
3 (©
(4) (D)
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(1) (A)
(2 (B)
3 (©
(4) (D)
Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,
. 4, Option ID :- 256,

forefetfia 1wy :

(A) Toreneff st nifq & fean o0 s (wEEHe ) &
(B) Tormnefi sreATye & SFIRY H HEHUFIGEF T F ¢ |
(C) famneft a7 fom=m gad % o e & €1

(D) Toenefi =ames Sefors stwd wra R ® ¥

T HA 0 H A W wA Al oiferm F an § we 22

Answer Given:- 3, Option ID : -255

Question ID:- 65

(1

P

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
. 3, Option ID :- 259,
- 4, Option ID :- 260,

Which is not essentially required for preparing a scheme of lesson ?
Number of working days in the school during an academic session
Number of days of school vacation

)
(2)
(3) Number of days spent for canducting annual examination
(4) Number of periods available for teaching the particular subject

13 A1 4R A o foae sifamd &9 § fhaent smavasha 76l &2
1) U Nerforr g7 % A faemera 9 w0 feadi i gen

2y foemerm § staawm & el & gen

3) aftfes gdten srAfsd & | o feAl @t Hem

4) U= fauy faw =i ggn & fau Suasy diRaEl &1 w@en

Answer Given:- 2, Option ID : -258

Question ID:- 66
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Which one of the following is not true ?

(1) Learning is a process in which the individual acquires various habits, knowledge and attitude.
(2) Learning is the process of inducing creativity among children.

(3) Learning is relatively permanent change in personality.

(4) Learning is a process by which behaviour is originated or modified through training;

Frefafed § & == o1 wd 78 § 2

(1) e w uferen & foos ww =afm o oned, 9 3R aifvgfa s o 2

(2) Al =4 | AT S SAURE HEE i UE G §

(3) Aferm =i H eriadRd T UiEd R ¥

(4) e U wfhan ® fomeh g0 9o o wresm § S9asR o 3930 el gafdd fohan S 2

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

How many behaviours be included in single observation so that it is more scientific and valid ?
(1) One or two

(2) Three
(3) Four
(4) As many as desired

Tehel STeelih 4 foha- =1eeRr wnfe foru S arfer 9% eifvrers Sanfes ir 9 &1 9 ?

(1) e 312 &l

(2) M

(3) =W

(4) foam off =1 3@
Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68
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What is not an advantage of similar ability grouping ?

(1)  Possibility of designing remedial activity

(2) Reduction of ability gap between groups

(3) Learning at Children’s own pace

(4) Possibility of more cooperation among group members

YA AR HHE H Teh o4 ] 7TEl € 2

(1) SU=reHe foran fmior &l Frem

(2) HHEl % & ATFAT ST Hl FHH

(3) ETOT I A A T AT

(4) THE % HCHl % A U TR hl HAE

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

Which one of the following may not be a part of strategy for ‘ Assessment of Learning’ ?

(1) Observation

(2) Peer Assessment

(3) Students’ responses (oral and written)
(4)  Analysis of student’s work

Tr=fafad § 9 oo sfrm o etrerer’ <A 6 ST &1 T 9T T8 8 R 8 ?

(
(2) HETS! e

(3) Terenfeiai =1 wfaferan (wifess oiv fafed)
(4) Ta=nteEi o 1 #1 favemm

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70
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A mentally challenged child can :

(1) attain mastery like any other child.

(2) not attain mastery at all.

(3) attain mastery but would need more time.

(4) attain mastery with alternative suitable environment and method.
AT ¥ H HHS e :

(1) o= fodli aerr S yeiioraT e1fael Y e € |

(2) Taergper ot weitoran Ffee 2 o Wehdl 2|

(3)  ETUIal B X Hehdl 8 fohq 39 s 99 1 SAreregshan 2l |
(4) Sewfeas S9ga amEe AR fafy I geftoen afae &t g% 7

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

- 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT24FEBSH2
Question ID:- 71

Regular meditation helps in :
(1) Spiritual health

(2) Mental health

(3) Physical health

(4) Social health

Trafia e fores Herern 3 82
(1) semnfos wre |

(2) HFfeE @ o

(3) VI w|rEe |

(4) HEIRSEH @A |

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
« 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72
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Who is eligible for free education among disabled children according to PWD, BILL, 2016 ?

(1) Children in the age group of 0 -14 years
(2) Children in the age group of 6 -14 years
(3) Children in the age group of 6 -15 years
(4) Children in the age group of 6 -18 years

4: v =3 fadres (PWD Bill) 2016 % 219R 3.9 setshl § & f1:37ee foren wm &3 &1 eher & 2

(1) 0-14 =4 & SAF-TF % F=
(2) 6-14 T4 & F-F & F=
(3) 61599 o Y- & T=H
(4) 6-18 74 & Y- & I=

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

The role of schools in addressing disability related issues is
(1) apathy

(2) sympathy
(3) giving equal opportunities without any discrimination
(4) empathy

S et qegi % g § farmerdi # i ¥
(1) &R

(2) @

(3) fa forslt Sigwra o |t 1 FHA STEH S

(

4) WY

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74
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What is mental health ?

(1) Psychological - social well-being

(2) Itis cognitive, behavioural and emotional well being
(3) Itis social, behavioural well being

(4) Itis psychomotor - Physical well being

g W F1§ ?

(1) TS T

(2) HIAFATHS, SR 3 AEHF Tl
(3)  HTHITSToR AR Teredl

(4) ARSI R

Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

What is “‘Hydrocephalus’ in mental health disorder ?
(1) Mental Retardation with Low LQ.

(2) Hormonal imbalance

(3) Large headed condition

(

HHfas @l faesr § 'Semid’ (FEsiahad) 1 1Y #1182
(1) 9 gt arelt AAfEH Ha

(2) TEHH FHIA
(3) <refei erafrafa
(4) s H o 921 UHH B arell FHuiaes

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 4, Option ID : -300

4) It is a cranial anomaly leading to accumulation of fluid in brain.

Question ID:- 76
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Poor handwriting is the characteristic feature of
(I) Dysgraphia

(2) Dyslexia

(3) Dyscalculia

(4) Dyspraxia

T g fegat I fagmm 82
(1) feanfen
(2) Tewifen
(3) Tewsrarsgfam
(4) Teaufern
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
. 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 1, Option ID : -301

Question ID:- 77

Schools are facing challenges in addressing mental health issues due to :
(1) Shortage of funds

(2) Lack of professional experts

(3) Lack of awareness

(4) Illiterate parents

Toermer foras R gHfgs Wy ga4dt gedl #1 e § Al & 9w @ © 2
(1) == =t &t

(2) UvER faerssl @ s

(3) SIFTESRAT i HHI

(4) TRer wm-foar

Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78
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(1) Low vision

(2) Locomotor impairment

(3) Low hearing

(4) Autism

difgeh STATHT 1 Teh 3260 HH F1 87
() 93

(2) ifass aifd

(3) | Zau vfeR

(4) A
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

is the example for intellectual disability.

Question ID:- 79

Loss of body part is known as :
(1) Handicap

(2) Disability
(3) Disorder
(4) Impairment
TRR * Tet 9w =1 B weerd €
(1) faewanTm
(2) AT
(3) fa=r
(4) &
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80
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The basic principle of counselling in school is :

(1) Co-operation

(2) Empirical Evidence
(3) Acceptance

(4) Data Collection

formem o st €3 &1 Hd fagid & :
(1) wedm

(2) SEYES Wi

(3) EEHI

(4) R HIET
Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : SOL_Q81-Q90_PRT24FEBSH2

Question ID:- 81

A teacher as a leader may not be associated with which of the fo]lowing ?

(1) Annual calendar planning
(2) Coaching

(3) Mentoring

(4) Initating

e § | o & 9 39 U ARl & ®9 § o1 T 8 Gohdl 8 2

(1) @ Foret a9 |J

(2) HETH

(3) ¥HIERHH

(4) TREHA T H
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82
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Academic participation of all learners is best ensured by :
1) Team teaching

(
(2) Team building based teaching
(3) Field trip method of teaching
(

4) Demonstration method

Tt AT weisll 1 sepeHd YRiER! Faiad YR Sy A= &1 S e g ?
(1) =9e faeor g

(2) GE fmfr smenf g
(3)  ywor g fararor
(4) weeE fafy gr

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

A good teacher should always be :

(1) Transformative

(2) Strict to the rules

(3)  Friendly

(4) Jovial

T foieres w1 Hed 1 A =1fEe ?
(1) gfREd=eie

(2) Tl & 9fa w&

(3) QR

(4) =TI
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
« 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84
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What is not the part of instructive role of a teacher ?
(1) Using easy language

(2) Giving detailed information

(3) Clearing doubts

(4) Evaluating

T SEATE FI fraemenes fte i fewm @ = €2

(1) & M &1 STERT HEAT

(2) fomga g e
(3) kI 1 FHIEE HTAl
(4) HeHIFRA HE

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

A school principal suggested four ways of vision building among teachers. Which one you consider
the best ?

(1) Visiting near by schools
(2) Knowing expectations of parents

(3) Reading book on some top schools
(

4) Discuss with experienced teachers

Tk 9L A frgehl | gftesmon faiv o 9R 9 e | 39 STER Faiad S § ?
(1) fehe & el | ST
2)  sIfyvreERl F STeRiES w S

(
(3) I i Wpell W YEE TG
(4) FAIvE] el | == T

Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86
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Whom will you not include in creating a school development plan ?
(1) A first class passout in educational administration

(2) Staff members

(3) Talented children of your class

(4) Weak children of your class

T e faan a1 &4 | & ford wnfaer =& 680 2
(1) el Jems | 9o 9ot H ure U =i

(2) EIE & e

(3)  SATUShI T % BNEAR o=

(4)  SATYhI HEN ok FHSR qH

Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Which one of the following is not a teacher development forum ?
(1) Subject Clubs

(2) Parent Teacher Association

(3) Teacher Association

(4) Inservice Teacher Workshops

= 9 8 30 o e faeg 199 76 8 2

(1) fawa e

(2) e e |

(3) Toreren Hw

(4) TarsRE foees FEemd

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88
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In class V time table, which subject should be taught in first period ?
(I) Drawing and Painting

(2) Physical exercises

(3) Moral education

(4) Mathematics

(1) TesreRen
(2) VR =
(3) Hfas farem
(4)  TIfoTd
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 4, Option ID : -352

Question ID:- 89

Which one of the following may help maximum in developing thinking and reasoning ability
among students ?

(1) Essay writing

(2) Teaching topics on space science
(3) Learning Biology

(

4) Learning History

B H o= iR g faemfad =@ § = 5 9 99 s gaifes 9eEs 8 T g2

(1) Fer e
(2) dre fas o e ggr
(3) ita fagm Hie
(4) sfae™ Hram
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90
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Which one of the following is not a learning community ?
(I) Discussion groups in localities

(2) Faculty development programme group

(3) Discussions in school development plan committee
(4) Discussions in parent teacher meeting

1 1 § 34 us sfr 9em 79 2
(1) afdl % 991 998
(2) Herrd T FrEEd 998
(3) ha fasrg A gfafa = ==
(4) cifraraes forernl #t sl § ==
Options:-
.1, Option ID :- 357,
. 2, Option ID :- 358,

. 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Subject : PE_Q91-Q100_PRT24FEBSH2

Question ID:- 91

(1) Constitution

(2) School

(3) Religious bodies
(4) Mass Media

(1) Hfeaus

(IS

(3)  ®nfHer e

(4) FER-YER HEAH
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

- 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

After independence the issue of untouchability has been best addressed by whom ?

T 3 YYEI T F G I fHE Tod 37w TE | Gl ¥ 2

Question ID:- 92
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The concept of integrated curriculum implies that :

(1) Teach physics and maths together

(2) Do not go for teaching specialized subjects

(3) Teach all subject based aspects of a topic at the same time together
(4) Teach knowledge, skills and attitude together

Tehtehd UTST= AT i TeheoHT o ffeared = & 2

(1)  ifert 3ir Tiforg wre-wy deRy

(2) TassamET fasi = 9d g_rEy

(3) W Vi ok faug smenfid |efi smardi w1 sehg faen # wg-9ry ueny
(4) M, e AR gl w1 we-ae yeE

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

Which of the following proficiency should be strengthened first at primary school level ?
(1) Social Science

(2) Science

(3) Environmental Science

(4) Language and Maths

i R W = 5§ g FgumE = 55Ed e W) 9gd 2 <1 =@iey ?

(1) g9 fagd

(2) fasm

(3) AT fagr

(4) T R T
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94
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What do we mean by pedagogy ?
(1) Education

(2) The art of teaching.

(3) The science of teaching.

(

4) The art and science of teaching.

Toregor v (Tremist) | gURT @ aed € 7
(1) faan

(2) foregon =t el

(3) Toreqr = fomm

(4) e =it e i fagm

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95

When an act for the right of children of 6 - 14 years of age was made ?

(1) 1986
(2) 1992
(3) 2006
(4) 2009

6 - 14 &9 & aeTh] & Afuswrl 4 defa afufaag w9 9m911?

(1) 1986
(2) 1992
(3) 2006
(4) 2009
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96
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Which document talked of developing and popularising of reading and using of interesting books
besides text books at school level ?

(1) Kothari Commission
2) NPE - 1986
3) NCF - 2005

(
(
(4) NEP - 2020

Tl T I TSR H 3% Ued AR WA % fore wfeyel gedenl % faer o desfi s w6 e fee
TES | el T ?

(1) RIEH AR

(2) NPE-1986

(3) NCF-2005

(4) NEP-2020

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

Which document introduced work experience as a compulsory activity at school level ?
(1) Kothari Commission

(2) Acharya Ram Murti Committee

(3) Yashpal Committee

(4) NCF - 2005

T TR R HEEYE H1 ifar frarwa 599 # 5T gwaes § e T2

(1) IS SR

(2) smEE T gid FH2L
(3) AT FHHST

(4) TAHLTE.-2005

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98
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Which of the following type of evaluation should be discouraged in school context ?
(1) Comprehensive evaluation

(2) Continuous evaluation

(3) Summative evaluation

(4) Formative evaluation

e & ded # f § & fFg uen & goied i gdieaied e Ty 2
(1) =9 Hediehd
2)  Hdd e

(2)
(3) HehellcHeh HedihH
(

4) GEAHE HodihA

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

Which commission gave the idea of multipurpose schools ?
(1) Kothari Commission

(2) Mudaliar Commission

(3) Birla Ambani Commission

(4) Mandal Commission

ggIvEd fommer = fa=m form s = faan ?
(1) IS ™M

(2) HEITR STEm

(3) Toten-srar S

(4) HUSA AN

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100
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As per N
(1) Pre

EP-2020, children of age 3 - 8 will come under :

Primary stage

(2) Preparatory stage
(3) Foundational stage
(4) Lower Primary stage

NEP-2020 % SJHR 99 3 - 8 % o= fopy T H 103 7

(1) 99 wgfas =R
(2) OER W
(3) SfEEl wR
(4) 7= wafies w@
Options:-
.1, Option ID :- 397,

« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : HIN

Question ID:-

I L

Options:-

Answer Given

« 2, Option ID :-
. 3, Option ID :-
- 4, Option ID :-

DI_Q101-Q120_PRT24FEBSH2

101

Frerfeafaa e i e qde UgehRt SHU ST U9 T Teteh I i

YR 99 ¥ YRR Wiy 3R 79 994 W © 1 difas faswm & fau fmior wef § sl a0 &
e Yedel <1 WSl € | =T Hgehi whi el €1 sveren Yemmif o1 o, =@ Afedi o st w6 fmior € steme
Torera w451 =1 frmifor, = St stgiferemedi a1 fmion &1 steran e o1 i, 9t o e 99 &1 8@
T BT &l 8§ | AR IR WEhfienta foio-= aHa-9m & gedn % fom gug 728 |

I 1Y Yo <9 2| T2l 1 fohum wiow aftem 3ar 81 sHifern simst g9 391 oF-Seured | &1
e S @I e

AT 9 AT

(1) ¥FAfEs 99 % 9

(2) wHIfE TE w99 FH 9
(3) HIfF g9 wE |

(4) Tagm&E 9

.1, Option ID :- 401,

402,
403,

404,
:- 3, Option ID : -403

Question ID:-

102
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Freafefiaa Tenr it ST Ude Ugeht WU ST U9 o1 Weteh I St

IR 91 ¥ YRR W i 09 yg= wa § 1 Wifaw fawmm % fore fmio w5l 8 sriife ga &
e YcAe S8 TSl & | 9T Wi o1 HTor &1 sveran Yol a1 fafo, =g afedi & arsdi o fmior g stean
Ferega Wi =1 fomifor, = St ergiferepiedi 1 Feion 1 svoren sha-sreaml &1 i, 9t 3 Jra o9 1 8
T B @l § | AR 3R Wit fmiv-=e aee-gm & weEn & o g @

I 0 YL <9 € 1| Fel 1 fopar wiew uftgm s &1 sdifem et gum S er=-3eured | @1
el =1 @R

e 99 & I 8 T/l

(1) e freion §

(2) Yemr fain H

(3) Hfedi & a4l & fmior §

(4) o=@ w=3 & dfei & AEfees fawe o

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

- 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

Freaferfiaa Tenr i s de UgeRt SHUR STUTE U9H T Weteh SR St

TRIRF 99 | IR = 3R 0 g6 T B difas faws % fau fmi wmEt § ot g9 =
e YL 918 TS € | HTe Wi okt fATor 21 steran Yol w6 frmton, = e & st o Fmior e stemn
Torega W o1 Fmion, =me S ergiforamieti @1 i €1 sveren swa-rream o1 fafon, 9eft § w99 1 &
T Y TEdl § | a9k i YRR fFuiv-=r uHe-99 % 9edm & fom 9y =@l |

I 0 YL <9 21 Fel 1 fopar wiew uftay s 81 sdifem eret gum S sr=1-3cured | S
wedl o @1 & |

TG 99 % TedT & for dora e
(1) Torga d9=i =1 Fmio-we

(2) St srgiferaRtedt o1 fmio-ar
(3) AR FAN il fa=R T

(4) defeR $iR drEfreRr frt e
Options:-

.1, Option ID :- 409,

« 2, Option ID :- 410,

. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104
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Frafafea T=iv &t I Uae Ugeht SUUT SUTRA U9 ST Teieh ST ot

TR 99 9 IR we 3R uF yE= Wl B Yifas faw % fau fmt st d akdifes g =
e YcAe S8 TSl & | 9T Wi o1 HTor &1 sveran Yol a1 fafo, =g afedi & arsdi o fmior g stean
Ferega Wi =1 fomifor, = St ergiferepiedi 1 Feion 1 svoren sha-sreaml &1 i, 9t 3 Jra o9 1 8
T B el § | a9k iR W - uHe- 99 % gedm & foe 9y @i |

I 0 YL <9 € 1| Fel 1 fopar wiew uftgm s &1 sdifem et gum S er=-3eured | @1
el =1 @R

WA HH 99 8 7
(1) HclTehrl
(2) HREHE H
(3) FHW &
(4) =HIH™ 94

Options:-

.1, Option ID :- 413,

. 2, Option ID :- 414,

. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415

Question ID:- 105

Freaferfiaa Tenr i s de UgeRt SHUR STUTE U9H T Weteh SR St

TRIRF 99 | IR = 3R 0 g6 T B difas faws % fau fmi wmEt § ot g9 =
e YL 918 TS € | HTe Wi okt fATor 21 steran Yol w6 frmton, = e & st o Fmior e stemn
Torega W o1 Fmion, =me S ergiforamieti @1 i €1 sveren swa-rream o1 fafon, 9eft § w99 1 &
T Y TEdl § | a9k i YRR fFuiv-=r uHe-99 % 9edm & fom 9y =@l |

I 0 YL <9 21 Fel 1 fopar wiew uftay s 81 sdifem eret gum S sr=1-3cured | S
wedl o @1 & |

YRA 3T 271 396 | A1 =g W@l ©, Hieh :

(1) N7 FeiH] & Sl ed €

(2) TowEm a | St = §

(3) fowram =fe ufigy = €

(4) Edi H HieTweE Al F TEHEE o s

Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
« 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106
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(1) HE

(2) ferraeR

(3) =

(4) ¥4
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

frfafad wreg gl § deaq-agya @1 ST5Td g §

(1) e - ST
(2) U - HH

(3) 3™ - HAH

(4) A4 - a7
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
« 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109
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ot faaime gme-grei & v ¥ :

(1) =Aifd - gem

(2) Sifed - wX

(3) g - 3fid

(4) itfer - 7@
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

- 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111

Frefafeg § wwafy 78 2 -
(1) T

(2) Ha

(3) WM

(4) HTE

Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112
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‘o oae § @ 36 1 98 1 - HEE /el 1 Heldh HAYuE §

(1) e

(2) FHaE B

(3) THEH YESA

(4) HHH U HME A HA
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

‘FyE’ A U HeY R T E §?

(1) @ &l =

(2) Tourm =1 feerd

(3) I HIHER

(4) A e =i
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

“faem =ren’ e fawn =t = 2
(1)  wfear
(2) HRHI
(3) FE
(4) Tehichl
Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,

. 3, Option ID :- 455,

- 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115
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‘e <Rt afeen i’ = H Big & Sel W o

(1) &qa
(2) SIS™
(3) erfma
(4) &fe
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

« 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

Question ID:- 116

“qrgT Sg W= 9 T T TR AR 6l g 2

(1) =RFIRE T
(2) R gl
(3) TeiedE ek
(4)  SreTRERT S
Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

=le arelt 371’ A9 A1 frget 872

(1) r1 s

(2) HE=s fomwm

(3) WL

(4) THYEE WE
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,

- 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118
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ATE, weft TR el 1 U Oy avH fRg wmH R 7

(1)  SrErars Jeat
(2) gy o
(3) HE i "Gl
(4) @eE-aie
Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

Frfafed § Sife W= @ :
(1) e
(2) wEF
(3) Hg
(4) <=
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475

Question ID:- 120

‘9T N Gl Fesliel’ AT o SR TX e foR ST H1et | 9% % 5= | S16 22 w1 gSE A ol 35

ERIW;

(1) Hell & AR q0

(2) st S fe

(3) e = Sl

(4) SHA FRI SO AFH A A G

Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 4, Option ID : -480

Subject : ENGLISH_Q121-Q140_PRT24FEBSH2

Question ID:- 121
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Read the passage given below and answer the question that follow.

Vikram Seth’s ‘A Suitable Boy’ (1993) is the only one of his novels to be setin India and Seth
laboured over this work for almost seven years. Itis setamidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, but it can be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

The novel is set. . .
(1) inthe US

(2) in Africa

(3) in India

(4) in India and the US together
Options:-

.1, Option ID :- 481,

« 2, Option ID :- 482,

. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

Read the passage given below and answer the question that follow.

Vikram Seth’s ‘A Suitable Boy" (1993) is the only one of his novels to be setin India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, butit can be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

The time-frame of the novelis. ..

(1)  The British period in India

(2) The modern India

(3) The Mughal rule in India

(4) The immediate post-Partition India

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488
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Question ID:- 123

Read the passage given below and answer the question that follow.

Vikram Seth's ‘A Suitable Boy’ (1993) is the only one of his novels to be set in India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, but it can be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

What thematic area does the novel cover ?
(1) education

(2) employment

(3) marriage

(4) old-age issues

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

Read the passage given below and answer the question that follow.

Vikram Seth’s ‘A Suitable Boy’ (1993) is the only one of his novels to be set in India and Seth
laboured over this work for almost seven years. Itis set amidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra's search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not

|} [ ST 7 LV 1O Al () | ] =11 Y £ 11N Bk (1. 1) L

Options:-
.1, Option ID :- 493,
. 2, Option ID :- 494,

. 3, Option ID :- 495,
« 4, Option ID :- 496,
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Answer Given:- 2, Option ID : -494

Question ID:- 125

Read the passage given below and answer the question that follow.

Vikram Seth’s A Suitable Boy’ (1993) is the only one of his novels to be set in India and Seth
laboured over this work for almost seven years. Itis setamidst the political turmoil and realignment
that ensued during the post-Independence, post-Partition decade of the 1950s. The novel spans
the stories of four families, the Kapoors, the Mehras, the Chatterjis and the Khans. The novel
opens with Mrs. Rupa Mehra’s search for a suitable match for her younger daughter Lata who is
well read, independent and rebellious-and in love with a Muslim boy. Seth’s writings have not
been seen as typical examples of Indian Literature in English, butit can be argued that he represents
the cosmopolitan ease of a post-Independence writer from the English-speaking middle class, who
can claim not just a knowledge of his own culture and traditions, but also that of Western and
European traditions.

In which ‘class’ has the novel been set in ?
(1) The neo-rich

(2) The rural zamindars

(3) The urban middle class

(4) The poor and downtrodden
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

Rearrange the parts in correct order to make meaningful sentence.,

(a) 1is the largest

(b) New Delhi railway station

(c) in the capital

(d) in size and operational capability

(1) (b) () (d) (@
(2) (o) (b) (a) (d)
(3) (@ () (b) (d)
(4)  (d) () (a) (b)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 1, Option ID : -501

Question ID:- 127
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Rearrange the parts in correct order to make meaningful sentence.

(a) from the British rule
(b) all sections

(c) of the Indian Society
(d) worked for freedom

(1) (a) (b) (c) (d)
(2) (9 (d) (b)(a
(3) (d) (b) (@) (c)
(4)  (b) (c) (d) (a)
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508

Question ID:- 128

Fill in the blank with correct preposition.

The answer that he gave me was
(1) besides

(2) Dbeside

(3) from

(4 on
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

the point.

Question ID:- 129

Fill in the blank with correct preposition.

It seems someone is knocking
(1) to

(2) at

(3) in

(4) upon
Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

your door.
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Question ID:- 130

Identify the correct tense form for the underlined words in the given sentence,

He has never reached his office on time.

(1) Simple Present Tense
(2) Present Perfect Tense
(3) Past Tense

(

4)  Past Perfect Tense

Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
. 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the correct tense form for the underlined words in the given sentence.

They will be reaching the theatre in time.

(1) Simple Future Tense
(2) Future Continuous Tense
(3) Future Perfect Tense
(4) Present Continuous Tense

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

Identify the part which contain an error.
This news / is too good / not to be / true.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

Identify the part which contain an error.

It has been snowing / in Shimla /since a week / now.

(1) (2) (3) (4)
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Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 3, Option ID : -531

Question ID:- 134

Choose the word nearest in meeuﬁng to the given word.
WHOLESOME

(1) pure
(2) healthy
(3) filling
(4) fatty
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
« 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135

Choose the word nearest in meaning to the given word.
JOVIAL

(1) merry

(2) laughable

(3) fantastic

(4) optimistic

Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
« 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Question ID:- 136

Choose the word opposite in meaning to the given word.
LENIENT

(1) mild
(2) cruel
(3) strict
(4) dominant

Options:-
.1, Option ID :- 541,

« 2, Option ID :- 542,
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. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

Choose the word opposite in meaning to the given word.
GIGANTIC

(1) shm
(2) weak
(3) tiny
(4) huge
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
« 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

Identify the part of speech of the underlined word.

Being austere in life, his needs are few.

(1) Verb

(2) Noun

(3) Adjective

(4) Conjunction

Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 2, Option ID : -550

Question ID:- 139

The policeman was running after the thief.

(1) The thief has been run after by the policeman.
(2) The thief was being run by the policeman.

(3)  The thief was being run after by the policeman.
(4) The policeman was being run after by the thief.
Options:-

.1, Option ID :- 553,

« 2, Option ID :- 554,

. 3, Option ID :- 555,

- 4, Option ID :- 556,

Change the following sentence from Active Voice to Passive Voice.
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Answer Given:- 3, Option ID : -555

Question ID:- 140

Identify the clause of the underlined part in the given sentence.

All that glitters is not gold.

(1) Noun Clause

(2) Adjective Clause
(3) Adverb Clause
(4)  Principal Clause

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 1, Option ID : -557

Subject : MATHS_Q141-Q160_PRT24FEBSH2

Question ID:- 141

What least number should be added to the smallest five digit number so that it is divisible by 48 ?

(1) 36
2 32
3) 18
(4) 24

Ta¥ B U ST Jel GE H S S fF 9 48 9 faanfsa € s ?

(1) 36
(2) 32
(3) 18
(4) 24

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142
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A survey was conducted in Gandhi Nagar about the number of members in a family. A bar graph
is drawn to represent this survey :

Y A

50

[y
s
1

2
=
T

—3 Number of families
[ x=]
(]
]

[
<
T

P2 4

0 i 2 3 4 5 6
— Number of members

Based on gTaph, four statements are given. Choose the one which is wrong :

(1) Survey was done on 150 families.

(2) Maximum families have 4 members.

(3) Number of families having 6 members is triple the number of families having 2 members.
(

4)  Difference between number of families having maximum members & minimum members is
40.
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Options:-
.1, Option ID

Answer Given

. 3, Option ID :-
. 4, Option ID :-

1

:- 565,
« 2, Option ID :-

566,
567,
568,

2

Y

3 4 ] 6
—» HaE| & 9T

Y WF G AR =R w9 f3u 7w ) 7Terd 1 gfw)

(1) e 150 9fEr] T fma 7=

2) e ofErd | 9R wew

3) B HEH Al IRERl i T, € HeHl A a1 Hem & i

4)  sifersae HeE a6l SR = T At TER] S He i S 40 T

:- 3, Option ID : -567

Question ID:-

(
(
(
(
(

143

In Roman numerals
LIV) X (V) is equal to :
1) CCC XXXV
9)

) CCL XXXIV
3) CCC XXIV
4) CCC XIV
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9T 3R o
(LIV) % (VI) 999 & :
(1) CCC XXXV

(3)  (COL XXV
(3) CCC XXIV
(4) CCC XIV

Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

Which of the following conversion is wrong ?
(1) 1kg=10hg

2 Img = L
(2 & IOOOg
3 1da =i
(") cg 108

(4 1hg=100g

= o § 9 -9 T § 2
(1) 1kg=10hg

(3) 1ldag= 10 &
(4) 1hg=100¢g

Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

- 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145
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In a measuring cylinder some water is filled. Level of water is 12 mL and 15 coins of Rs. 10 are
dropped in it and level of water is now 30 mL. Volume of 20 such coins will be :

(1) 18 mL
(2) 20 mL
(3) 22mL
(4) 24 mL

TS A9 907 H 5 ] 90 T 8 | 9 S 'R 12 mL § SR 39 el 10 T 95 15 et @i i fem
T SR T I R 30 mL B T ® 1S9 YRR F 20 TRt o1 e 2

(1) 18 mL
(2) 20 mL
(3) 22 mL
(4) 24 mL

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

« 4, Option ID :- 580,
Answer Given:- 4, Option ID : -580

Question ID:- 146

Which of the following statements is wrong ?

(1) Every cube is a cuboid.

(2) Base of cylinder is a circle.
(3) Cube has 6 surfaces.

(4) Every cuboid is a cube.

Frefafea sl § 3 -9 e[ 82

(1) Y =9 Ueh =14 &I § 1

(2) oo (fafdet) %1 omur U 99
(3) T 6 HeTE e § |

(4) T BAIH Tk B A1 § |

Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

- 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147
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Which of the following statements is not correct ?
(1) Sum of even and odd number is an odd number.
Sum of two even numbers is an odd number.

)
2)
3) Sum of two odd numbers is an even number.
4)

(
(
(
Freafafad wemi § 9 wF-5 98 76 7 2

(1) =9 iR faum den %1 9 v faum e g €
(2) & °9 HEARd % A us faun e g g

(3) <1 o s o 4t 99 e 2 B

(4) T 9H R TS faug G o YUEhS Uk Y G B € |
Options:-

.1, Option ID :- 585,

« 2, Option ID :- 586,

. 3, Option ID :- 587,

« 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Product of an even and an odd number is an even number.

Question ID:- 148

(1) 4 cm long, 4 cm wide, 4 cm high.

(2) 2 amlong, 3 cm wide, 10 cm high.
(3) 5 cm long, 4 cm wide, 3 cm high.
(4) 6 cm long, 5 cm wide, 2 em high.

(1) 4 cm @&, 4 cm =€, 4 cm 30
2)  2cm @9, 3 cm =G, 10 cm 4
3) 5cm @6, 4 cm =€l 3 cm S

(4) 6cm @4, 5 cm 9IS, 2 cm I
Options:-

.1, Option ID :- 589,

« 2, Option ID :- 590,

. 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 1, Option ID : -589

Sheena has sixty 1 cm cubes. Which of thesecuboids she cannot build with these cubes ?

I 9 1 em G 60 ¥4 €139 541 U 98 390 9 AT T T8 a1 Tehdl & 2

Question ID:- 149
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Which of the following options depicts the types of angles in increasing order of their measures ?

(

1)  Acute, right, obtuse, straight, reflex.
2)  Acute, obtuse, straight, right, reflex.
3)

)

(
(2 Acute, right, obtuse, reflex, straight.
(4

Acute, obtuse, right, straight, reflex.

Frfafaa fasedl § 9 SF-41, 00 % A7 o TR ST 96d HH 1 <udl © 2
(1)  =TeRT01, HHRITI, TR0, SHSpehIv, Hicadl
(2) IR, SRR, BRIV, FHA, Yfcerdl
(3) =IO, T, At gfaadi, B
(4)  =IARI, TRl THHI, SR, Gfdadi

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150

If side of a square is 9 m 87 mm, then its perimeter is :
(1) 36 m34 cm 8§ mm

(2) 36m 3 cm 48 mm
(3) 38 m 38 mm

(4) 39 m48 mm
Hﬁ:@aﬁaﬁ LSl 911187111311%, ﬁtmﬂﬁmq% s
(1) 36 m34 cm 8 mm

2) 36 m3cmd48 mm
3) 38 m 38 mm

(
(
(4) 39 m 48 mm
Options:-

.1, Option ID :- 597,

« 2, Option ID :- 598,

. 3, Option ID :- 599,

- 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151
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Shopkeeper purchased 3 dozens eggs at the rate of Rs. 58.78 per dozen. He sold eggs at Rs. 6 per
piece. His profit (in Rupees) is :

(1) 3954
(2) 38.72
(3) 38.34
(4) 39.66

THMER A 3 T 31 58.78 T Wi <o i & W @le | SHH A 371 6 T 61 o= | HH 1 (F94 H)
g

(1) 39.54
(2) 38.72
(3) 38.34
(4) 39.66

Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

« 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

Number of squares in the given figure are :

(1) 9
2) 10
3) 8
4 11
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few e fo=t # =il =t Hen @

(1) 9
(2) 10
(3) 8
(4) 11
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

- 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153

On 26t December 2022, it is Monday. What day will it be on 20th March 2023 ?
(1) Monday

2) Tuesday

3) Wednesday

(
(
(4) Thursday

26 femraT 2022 1 HER § 120 AE 2023 &1 HE-H1 feq g ?

(1) HHar

(2) HITAER

(3) FHAR

(4) FEEfdar
Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

« 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154
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Number of hours in the month of February 2024 will be :

(1) 672

(2) 696

(3) 720

(4) 744

Tt 2024 % A § €3 i e T
(1) 672

(2) 696

(3) 720

(4) 744
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155

1-2+3—-4+5 -6+ +151 on simplification, gives :
(1) 74

(2) 75

(3) 76

@ 77

1=3+8=d+5 =6+ +151 1 TTA FH T YW B @
(1) 74

2 75

(3) 76

(4) 77

Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

- 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156
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Which of the following fractions is greatest ?

13
D =
13
2
13
3 19
13
(4) 20
e Tl 6 9 e | T 9] § 2
13
0 15
13
2 17
13
3 19
13
@ 3
Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 1, Option ID : -621

Question ID:- 157

A school has 850 students. If each student pays Rs. 12,336/ - as fees annually, then money collected
in a year (in Rupees) will be :

(1) 10486500

(2) 10485600

(3) 10405600

(4) 10447100
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T foramer ° 850 fornedt €1 afg uoiew fammedt 12336/ ¥04 =nfde # <@ €, o v a¥ § uswia afy
(Tl o) 2 ST

(1) 10486500

(2) 10485600

(3) 10405600

(4) 10447100

Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

A truck can carry 6548 kg of goods. Sujan loaded 48 bags of wheat. If weight of each bag is 105 kg,
then how many more such bags can be loaded in the truck ?

(1) 13
2 15
(3) 14
4) 12

T 23 T 6548 kg T 21 Tha1 € | G - 566 48 =1 T1E & @18 | fS U X 31 YR 105 kg &, S0 TH
T fora iR T8 S O1C 571 T © 2

(1) 13
(2) 15
(3) 14
(4 12

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

Question ID:- 159
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In a two storeyed house Beenu and Meenu share a water tank of 1000 L. Beenu consumed 474.23

L of water and Meenu consumed 239.033 L of water in same day. Remaining water in the tank
is:

(1) 285.747 L
(2) 286.440 L
(3) 286.737 L
(4) 285.637 L

T & Hfstel =X H &g 37R Hiq T 1000 L 3T I &1 a1 1 3R &I € | U o H di9 9 474.23 L 9FT
3R B 7 239.033L T 1 STAR foRan | S T 99 Ue €

(1) 285.747 L

(2) 286.440 L

(3) 286.737 L

(4) 285.637 L

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

« 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

Observe the pattern below and write the missing number (?)
3 715,81, 63,2

(1) 95

2 127
(3) 128
(4) 255

(1) 95
(2) 127
(3) 128
(4) 255
Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
. 3, Option ID :- 639,
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« 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT24FEBSH2

Question ID:- 161

Given below are two statements : one of them is labelled as Assertion (A) and the other as Reason
(R). Choose the correct answer with the help of code given below.

Assertion (A) : The use of diesel and petrol as fuels in automobiles is being replaced by CNG
(Compressed Natural Gas) now.

Reason (R) : CNG produces Sulphur and Nitrogen oxides in very small quantity. Along with
this CNG is a cleaner fuel.

1)  (A) and (R) both are true and (R) is the correct explanation of (A).

2) (A) and (R) both are true but (R) is not the correct explanation of (A).
3)  (A) is true but (R) is false.

4)  (A) is false but (R) is true.

— — e —

1 2 o fou U ¥ 1 U i 2AERYR (A) 3R T REOT (R) FHEl T 1 U T e 5 Her

Y TE IR FH =TI FL

AfUeRIE (A) : R aTEAl H $6M % ¥ H Sioiel SR U2el o T oTe W1 s (Hitfed ko )
W T

HRTT (R) : TSt HoR 3R RS % SAFEel H1 SR o709 "l H Al § | Wmy-g-uy
st v e == 2o 2

(1) (A) 3R (R) S &I € 3R (R), (A) I HEl &A1 FHI 2|

(2) (A) 3R (R) 1 TEI & Ry (R), (A) i Fel A T2l Hl ¢ |

(3) (A) §& & T (R) Terd E

(4) (A) e[ € W (R) T8 B

Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

Below are two statements. Choose the correct answer from the given options :
Statement (I) : ‘Teflon’ is used for non-stick coating on cookware.

Statement (II) : ‘Teflon’ is a special plastic on which oil and water do not stick.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4)  Statement (I) is false but Statement (II) is true.
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1= & e fau 7o €| fou gu fasmedl & 9 98t 3 &1 =979 # |

H (1) - ‘oo A9 T F U W T s el 7 o e % T S
wUA (I1) - 'THi’ U fafem wnfies & o w 9@ ot e fausa 721 71
(1) =99 (T) 3R (1) <6 w8 §)

(2) A (I) AR (1) AT Terd €

(3) YA (I) Hél € W A (I1) TTeTd 81

(4) U (1) Terd T T HEH (1) TE 2

Options:-

.1, Option ID :- 645,

. 2, Option ID :- 646,

. 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

Which of the following is done in the process of pasteurisation for removing microorganisms from
milk ?

(1) The milk is heated to 70° C for 15 to 30 seconds and then suddenly chilled and stored.

(2) The milk is heated to 100° C for 4 to 5 minutes and then suddenly chilled and stored.
(3) The milk is chilled at 0° C and stored suddenly.
(

4) The milk is heated at 50° C for 3 minutes and the cream is removed from it and is stored
without cooling.

T I gEeidl 9 G F4 o fole wivedis &t ufkn § frafated § 9 2 fe s g2

(1) ¥ 1 70° C W 15 - 30 Hehg & fau 7 &t § i Tohuss 221 Tt ST HeR & o & |

(2) TUH 100° C W 4 -5 2 9% 3aer & fF THITH ST Fleh SHe HERT T &d & |

(3) THH 0°C R 3T Fh THTF IHH HSRT FT & 8 |

(4) M I 50°C W 3 e a6 1 %tk 38 Hak fehra foan s € fem famn ge1 fore gy &1 derw
X fean s 2

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164
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(1) Sodium bicarbonate
(2) Streptomycin

(3) Alcohol

(4) Yeast

frefafes § 9 #H-91 ufqsifas € 2

(1) Hifezq AEEHEHe
(2) HemHEEE
(3) UwhRA
(4) He
Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Which of the following is an antibiotic ?

Question ID:- 165

(
(3) Rahat, Seed-drill, Plough, Dhekli
(

Frefafed 9 9 #m fo=E 4 Hefug 2 2

2) R (o), 39 99, s, B

Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
« 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Which of the following is related to irrigation ?
(1) Moat, Chain-pump, Rahat, Ploughshare
2)  Moat, Chain-pump, Dhekli, Ploughshare

4) Moat, Chain-pump, Dhekli, Rahat

(1) Hre (fae), == 7w, @2 (3% ), Fd

(
(3) @2 (3FaH), He-Sid, Fld, SHhal
(4) Hre (T, == T, @, T (30as)

Question ID:- 166
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In the context of manure, choose the correct answer from the options given below :

(A) Manure is Carbonic (organic) substance.

(B) Manure is obtained from plants or animal wastes.
(C) Decomposed matter is used as manure.

(D) Manure does not provide humus to soil.

(I) Only (A) and (D)

(2) Only (C) and (D)

(3) Onlv (B), (C) and (D)
(4) y (A), (B) and (C)

@R & Hed H A4 fau T fashedi #i 7eg § HEl UL T I i -
(A) ETE T Frefn (Sfawr) wemef 7

(B) @TE Ui A Sig sTufers ¥ ww Bt g

(C) svsfed Uerel @WIE F B9 H 3T foran S g1

(D) @R ¥ gt =1 gog 9w = 2t

e

(1) 9 (A) 3R (D)
(2) e (C) 3R (D)

(3) € (B), (C) ¥R (D)
(4) I (A), (B) 3R ()

S

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

Sometimes in summers, white patches are formed on our clothes especially in areas like underarms

because of :

(1) Urea present in sweat.

( Salt present in sweat.

(3) Ammonia present in sweat.
(4) Water present in sweat.
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(1) 9HA H Ao IR o SR

(2) THH H HiSE A9 & HE
(3) THM H HeR T R
(4) TER H HiSE U % wR

Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Feft-ameft Tt % fem & o W, favive Fiw F ST-ur Tihe U fomd & €1 I% feeeh R g

Question ID:- 168

The topmost layer of soil is :
(A) Soft

(B) Porous

(C) Retain less water

(1) (A) and (B)

(2) (B)and (Q)

(3) (A)and (O)

(4)  Only (C)

el I Heay FU0 W Al Z |
(A) 48

(B) ¥

(C) Y S ¥R HA el
(1) (A) ¥R (B)

2 (B3R (O

(3) (A) 3R ()

(4) 4 (©)
Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169

@ Teachingninja.in



Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Toucan Bird has long and large beak.

Reason (R) : Toucan’s beak helps it to reach the fruits on branches which are otherwise too
weak to support its weight.

1) (A) and (R) both are true and (R) is the correct explanation of (A).

2) (A) and (R) both are true but (R) is not the correct explanation of (A).
3) (A) is true but (R) is false.

4)  (A) is false but (R) is true.

= § eed fau o ¥ | v 1 3tfueRe (A) SR TEY 1 SRITOT (R) Fe T € | fau T e 6 Herman
Y Y& I T FIH H

afeRer (A) : 2 Ul it dig ol SR 9 St ¥

HWUT(R) : oA i =g Y 3T Fell & Siferdl d% U= § HeE FIdT & S 9gd HHSR el § 9
IHH YR HE 8l g |

(1) (A) 3R (R) S H&t §, 3R (R), (A) &l T& =@ F g

(2) (A) 3R (R) S WEl §, TG (R), (A) T TEl AT el S0 ¢ |

(3) (A) W& 2, 9 (R) e 2

(4) (A) T 8, 9 (R) TR R

Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Below are the functions related to the “Tongue’. Choose the correct answer with the help of given
codes :

(A) It breaks down sugar into starch.

(B) It mixes saliva with the food.

(C) Tongue has salivary glands over its surface.

(D) It helps in detecting taste of food.

Code :

(1) (A) and (B)
(2) (B) and (O)
(3) (B) and (D)
(4)  (A) and (O
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=19 'Sft9’ | Heiferd w1 feu e €)1 U gU e it oAl 9 Hel W S g H |
(A) FE VA % Hie § 5ot ¢ |

(B) FE @M H @R fHart ¥

(C) =T Hag T AR Uit Bt & |

(D) @M o &% &l T8 HEAl

e :
(1) (A) ¥R (B)
(2) (B) ¥R (Q)
(3) (B) ¥R (D)
(4) (A) =R (Q)
Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 3, Option ID : -679

Question ID:- 171

Which of the following is true about ‘Seasonal Migration” ?

(1) It always happens during the rainy season.

(2) Itis always that all the members of a family migrate to other areas.
(3) It always happens from the rural areas to the urban areas.
(

4) It gives a source of income to the landless labourers.

1§ § wE-w e O yar o gee § e E 0

(1) I€ %ael 991 kg § a1 2 |

(2) B IRER & B e UF TH § gH TIF 61 AN S 2
(3) T THN AT &5 T L &5 Fl AR T 2 |

(4) =% YA gfiTeni 1 YRS 1 T @i &l 2 |

Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172
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I was five years old when I saw the picture of Neil Armstrong landing on the Moon. I set a new
world Record for the longest space flight by a woman. Who am1?

(1) Kalpana Chawla

2)  Sunita Williams

3) Sally Ride

(
(
(4) Peggy Whitson

T of9 e &t oft 5@ §Y e sl #i Jie W 3ad g Wl <@t | §Y Hafty § wed oe 99 9% A
et Afeen & ¥4 fava femié s g1 8w § 2
(1) =ea =Eel

(2) g fafeae

(3) Wl WSS

(4) T aEeEA
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

There are some plants which hunt / trap mices, frogs, insects and small animals. Nepenthese is
most famous amongst them. This plant is found mainly in which part of the country ?

(1) Kerala
2) Andhra Pradesh
3) Himachal Pradesh

(
(
(4) Meghalaya

T UE G off 2§, S 981, e, Fe-THES AR B Sial o R e € 13 iraferm ged s
TYRL € | I8 WY YR % i § 59 H HEIa: U S € 2

(1) =

(2) WY AW

(3) Tear=e wew

(4) =™
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
. 3, Option ID :- 691,

- 4, Option ID :- 692,
Answer Given:- 4, Option ID : -692
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Question ID:- 174

Children’s Right - ‘Mid-day Meal - is given to children of which classes ?
(1) Class1to6

(2) Class1to5

(3) Class1to8

(4) Class 1to 10

T 1 T fre-2-e’ (W o) -fRe wanst 3 st w6 fomn S & 2
(1) w1 1-6TF
(2) HET1-5TF
(3) HH1-87TH
(4) HEA1-107%H

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

You are working in a software company of America. Over approximately seventy five years ago,
your grand-father came from ‘Dera Gazikhan' and got settled in New York. The ancestral residence
of your grand-father would be in which country at the present ?

(1) Afghanistan

( Pakistan
(3) Bangladesh
(4) India

A 2 & T AieaaT St § i &d 8 | TS F e 75 96 Ugel ST9es grers (S e '
Y ST =qAeh 9 0| 379k STersl 1 Uge fary e adum § fRg Sw H srafed €2
(1)  STETTET

(2) aifeREH

(3) dARY

(4) W
Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,
. 4, Option ID :- 700,
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Answer Given:- 3, Option ID : -699

Question ID:- 176

Fill in the blanks by choosing the correct option from the code given below :

I have come from Molan Village in . It rains heavily in our place. Hence, our houses
are made almost ten to twelve feet above the ground. They are made on strong bamboo pillars.
(1) Nagaland

(2) Tripura
(3) Sikkim
(4) Assam

== feu Tu e H & wE faey g i T = gfd 1)

# & HIE E H T § | TR e g aIRw 6 ¥ 1 3o gui o SHE § S 29 § aRE
T2 TH I EM T 5 Aed 919 F Tl W I ¥

(1) "Tmers

(2) P

(3) fafes

(4) FTEH

Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

Below are two statements. Choose the correct answer from the given options :
Statement (I) : Our eyes tell a lot.

Statement (II) : Small children tell a lot through their face and hands even before they learn to
speak.

(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.
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= & e feu e € fou gu fomredi & 9 9@ s # =

HA - (1) : W AU 3@l ¥ Fgd $9 Fed ¢ |

HYA - (1) : Bl F=A °1 Sie Hied § 98l & fora 39 Fed € - =8 9, g 9
(1) e () SR (1) S 8 ¥

(2) e (I) R (1) AT 7TeTd €|

(3) A (I) FE & T HUA (1) 7T & |

(4) T (1) Terd € TG FUF (1) T2 2

Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

- 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705

Question ID:- 178

Below are two statements. Choose the correct answer from the given options :

Statement (I) : Poems and songs related to water that are commonly sung or recited locally should
be shared in the classroom.

Statement (II) : This will bring children closer to their community and arts of their region.
(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.

e & e feu o €1 fou gu faswedi | & 9 SO o 99H wl |

HAT - (1) : TP W I A AR ST AT U e shaard oiR Tia wen § |ien e S
=ifgu |

HUT - (1) : 3T 319 HHSH & FH AR Tl & 90 F=0 61 E qe |

(1) = (1) @R () <1 9 )

(2) e (I) 2R (11) 2T e €

(3) A (1) TR & W FHAA (II) T B |

(4) T (1) Terd & WY FUF (1) FEH 7

Options:-

.1, Option ID :- 709,

« 2, Option ID :- 710,

. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179
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Which of the following statements is true :

(I)  Excessive use of fertilizer leads to increase in the crop production. Along with this, it also
increases the fertility of the soil.

(2) We should use fertilizer instead of organic manure to maintain the fertility of soil.

(3) Field should be left unsown for some time between the plantation of two crops, so that
fertility of soil can be maintained.

(4) Manure increase the soil’s composition and its water retention capacity.

Frefafad el § & HF-1 %o e € 2

(1) ATl & Tfes SUAm 4 woal &1 =31 3 " St &1 e g W fogh o6 3w o s #
(2) THET =1 Sear oATC T o foiu B Sifoeh @1g o T4 9 3eeh] &l STANT LAl 91 |

(3) R HEE & o< H W I FP THY * ¢ {1 F I Bre &1 =fe arfen SHA Rl Sed o+ @
(4) STk % 3AM § TS % TeA Ud S ST i amar | gfg S €

Options:-

.1, Option ID :- 713,
« 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Choose the correct option from the given statements.

(A) Lions have small claws in their front legs that can be withdrawn inside the toes.
(B) Deer’s long ears give them information about the movement of their predators.
(C) The eyes on the sides of deer’s head help them to find the directions of danger.

(1) Only (A)

(2) (A)and (B)

(3) (A)and (O

(4) (B)and (C)

frefafes woi 9 9 9& & =999+

(A) ¥R F e T F TE BR 2 8, R 9w weinfer % st wiwe fow v B
(B) T & < #1139 frerlt &t wfafafy =1 seeid 24 €1
(€) o & fo & ured ¥ ST oIR from 3@ e foun # <@ @t Wegd T Hehdl €|

(1) e (A)
(2) (A) ¥R (B)
(3) (A) 3R (O
(4) (B) ¥R (C)
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Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
. 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 4, Option ID

1 =720
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